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QUESTION 1

A vSphere administrator creates a new vSphere Distributed Switch. The administrator receives notice from the service
desk that a cluster of vSphere hosts has disconnected from vCenter Server. This disconnect occurred immediately after
the new switch was created. This vSphere Distributed Switch is the only distributed switch managed by vCenter Server.
The virtual machines are still functional and the applications are still accessible by end users. 

On the ESXi hosts, which step must the vSphere administrator take to allow vCenter Server to reconnect? 

A. Use the Direct Console User Interface to reattach the management vmnic to the appropriate switch 

B. Use the Direct Console User Interface to disable lockdown mode on each affected host 

C. Use the ESXi Shell to restart the mgmt-vmware service on each affected host 

D. Use the ESXi Shell to restart the vSphere Web Client service on each affected host 

Correct Answer: A 

 

QUESTION 2

What could cause an upgrade of the IaaS components to fail? 

A. The vCloud Automation Center Service Manager Service is running. 

B. The vCloud Automation Center Agent Service is running. 

C. The vCloud Automation Center Service Manager Service is not running. 

D. The vCloud Automation Center Agent Service is not running. 

Correct Answer: A 

 

QUESTION 3

An administrator creates a vCAC virtual machine blueprint with the following resource parameters: A user tries to launch
a machine based on this blueprint with the following resource parameters: What is the immediate outcome of this
attempt? 

A. The virtual machine fails to launch. 

B. The virtual machine is launched as configured. 

C. The virtual machine deployment awaits administrative approval. 

D. The virtual machine launches with automatically adjusted parameters. 

Correct Answer: B 
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QUESTION 4

An administrator needs to export system logs for an ESXi 5.5 host to determine the root cause for a host performance
issue. This host supports manifest-driven exports of system logs. 

Which manifest is selected by default during the export system log wizard? 

A. Userworld 

B. Hostworld 

C. PerformanceSnapshot 

D. HungVM 

Correct Answer: A 

 

QUESTION 5

Which appliance is required to deploy VXLAN? 

A. NSX Manager 

B. vCloud Director 

C. vCenter Server 

D. vCloud Connector 

Correct Answer: A 

 

QUESTION 6

A virtual machine is receiving a large number of network packets, which is affecting the performance of other virtual
machines connected to the same virtual network. 

What should the vSphere administrator do to resolve the issue? 

A. Migrate the virtual machine to a standard switch that has been configured for ingress traffic shaping 

B. Configure the distributed switch to which the virtual machine is connected for ingress traffic shaping 

C. Migrate the virtual machine to a different port group on the same distributed switch 

D. Enable Network I/O Control on the standard switch to which the virtual machine is connected 

Correct Answer: B 

 

QUESTION 7

What is the minimum virtual machine compatibility setting required for a virtual machine to run on a vSphere 5.5 host? 
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A. ESXi 5.1 and later 

B. ESXi 3.0 and later 

C. ESXi 4.1 and later 

D. ESXi 3.5 and later 

Correct Answer: D 

 

QUESTION 8

As part of a capacity planning exercise, a user needs a report of all reservations for all Business Groups within the
user\\'s department including the percentage used for machine quota, memory, and storage for powered-on virtual
machines. 

How should the user collect the data for this report? 

A. As a fabric administrator, select the columns needed in the Reservation work area and export the data in a
convenient form. 

B. Request that each Business Group Manager provide the Reservation data for the user\\'s department and combine
the results. 

C. Request that the database administrator pull the data needed from the appropriate database view exporting in CSV
format. 

D. As a fabric administrator, run the Reservation Summary Report from the Reports section in vCloud Automation
Center. 

Correct Answer: A 

 

QUESTION 9

Which three roles have the permission to define new catalog items and publish them to the service catalog? (Choose
three.) 

A. Service Architect 

B. Tenant Administrator 

C. Support User 

D. Business Group Manager 

E. IaaS Administrator 

Correct Answer: ABD 

 

QUESTION 10
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During the installation of ESXi 5.5, the following error message is reported: 

Hardware Virtualization is NOT a feature of the CPU, or is NOT enabled in the BIOS. Which condition would generate
this message? 

A. LAHF/SAHF is NOT enabled in the BIOS. 

B. NX/XD is NOT enabled in the BIOS. 

C. SSE3 is NOT enabled in the BIOS. 

D. Hyperthreading is NOT enabled in the BIOS. 

Correct Answer: A 

 

QUESTION 11

An administrator needs to give another engineer access to create and manage fabric groups and create and manage
endpoints, but needs to make sure they do not have access to system event logs. What role is required? 

A. IaaS Administrator 

B. Fabric Administrator 

C. System Administrator 

D. Account Administrator 

Correct Answer: A 

 

QUESTION 12

Why would a vSphere administrator configure resource shares for a virtual machine? 

A. To prioritize access to a resource during contention 

B. To guarantee access to a resource during contention 

C. To prioritize access to a resource at all times 

D. To guarantee access to a resource at all times 

Correct Answer: A 

 

QUESTION 13

An administrator has installed Application Services for a tenant group of users. What role will give the group the least
privileges necessary for provisioning applications into the vCloud Automation Center catalog? 

A. Application Publisher and Deployer 
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B. Service Architect 

C. Application Catalog Administrator 

D. Application Architect 

Correct Answer: A 

 

QUESTION 14

What is required for a tenant to manage an item in vCloud Automation Center that was created by a vCenter
Orchestrator workflow? 

A. A provisioned resource 

B. A resource mapping 

C. A resource action 

D. A published service blueprint 

Correct Answer: A 

 

QUESTION 15

What would prevent a system administrator from deleting a tenant? 

A. You must delete any business groups before deleting the tenant. 

B. Only the IaaS administrator can delete the tenant. 

C. The tenant must remove the identity stores. 

D. Only the Infrastructure administrator can delete the tenant. 

Correct Answer: A 
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